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INT RR 2R

BoOFO N, ZHSM B(n,1/2) (n: EENDHRBRADE)

WZHE D,

AT : X4 ~ B(45,1/2). 45 AD 60 %% 27 A
BiEbt : Xp ~ B(15,1/2), 15 A® 60 %I 9 A
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AIRBETCEOF 27 AL EATEN AR : 0.116 (11.6 %)
BIGRFE CEDF2 9 ALL EAEN D - 0.304 (30.4 %)
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INT R b2 RS 2
BoO+ONEIL, DA B(n,1/2) (n: AFNDHRELADE)

(ZHE Do

AJRBE © Xa ~ B(45,1/2), E(X4) =45/2, 0(X4) = 3V5/2
BIEBE : X5 ~ B(15,1/2). E(Xg) =15/2. o(Xg) = V15/2

27 — 45/2
IHXA>45XQ®::1—P(Z4< /)
3v5/2

—1—P(Z4 < 1.34) = 0.5 — 0.4099 = 0.0901

-HXBEHbdm)zl_P(@l_i}sf)

—1-P(Zp <0.77) = 0.5 — 0.2794 = 0.2206
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